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Change 1 

	Function name
	  function f_TC_8_6_2_3a_EUTRA() 

	Reason for change
	When UE transmits  UEInformationResponse message with LogMeasInfoList , In Wk10 TTCN Implementation while checking the LogMeasInfoList in these test cases PLMN Identity and Cell Identity is missing in the expected template.



	Summary of change
	Respective parameters for PLMN Identity and Cell Identity must be passed in expected template while checking LogMeasInfoList reported by UE.

	TTCN module
	LTE_A_R10_R11_IWD_17wk10\LTE_A_R10_R11\8_6RRC_MDT_Logged.ttcn

	MCC160 Comment
	Accepted


Before change

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message with LogMeasInfoList on Cell 12?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *)))) -> value v_ReceivedAsp;

    v_Len := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10);

    for (i:=0; i<v_Len; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, ?, (0..97), (0..34), *)))

         {//@sic R5-155790 sic@

           if(match(v_LogMeasInfo_r10.measResultNeighCells_r10, cr_MeasResultNeighCells_r10(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit,*,*,omit))))

           {//@sic R5-155790 sic@

             v_MeasResultNCells_r10_Flag := true;//@sic R5-155790 sic@

           }

         }

         else

         {

           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: One LogMeasurementInfo doesn't matched the template");

           break;

         }

      }

      else { //@sic R5-171443 sic@

         if (match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), *, cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

         {//@sic R5-155790 sic@

           if(match(v_LogMeasInfo_r10.measResultNeighCells_r10, cr_MeasResultNeighCells_r10(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit,*,*,omit))))

           {//@sic R5-155790 sic@

             v_MeasResultNCells_r10_Flag := true;//@sic R5-155790 sic@

           }

         }
After change

        //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message with LogMeasInfoList on Cell 12?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *)))) -> value v_ReceivedAsp;

    v_Len := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10);

    for (i:=0; i<v_Len; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), *)))

         {//@sic R5-155790 sic@

           if(match(v_LogMeasInfo_r10.measResultNeighCells_r10, cr_MeasResultNeighCells_r10(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit,*,*,omit))))

           {//@sic R5-155790 sic@

             v_MeasResultNCells_r10_Flag := true;//@sic R5-155790 sic@

           }

         }

         else

         {

           f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: One LogMeasurementInfo doesn't matched the template");

           break;

         }

      }

      else { //@sic R5-171443 sic@

         if (match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), *, cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

         {//@sic R5-155790 sic@

           if(match(v_LogMeasInfo_r10.measResultNeighCells_r10, cr_MeasResultNeighCells_r10(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit,*,*,omit))))

           {//@sic R5-155790 sic@

             v_MeasResultNCells_r10_Flag := true;//@sic R5-155790 sic@

           }

         }

















Change 2
	Function name
	    function f_TC_8_6_2_10_EUTRA()

	Reason for change
	When UE transmits  UEInformationResponse message with LogMeasInfoList , In Wk10 TTCN Implementation while checking the LogMeasInfoList in these test cases PLMN Identity and Cell Identity is missing in the expected template.



	Summary of change
	Respective parameters for PLMN Identity and Cell Identity must be passed in expected template while checking LogMeasInfoList reported by UE.

	TTCN module
	LTE_A_R10_R11_IWD_17wk10\LTE_A_R10_R11\8_6RRC_MDT_Logged.ttcn

	MCC160 Comment
	Accepted


Before change

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message with LogMeasInfoList on Cell 12?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *)))) -> value v_ReceivedAsp;

    v_Len := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10);

    for (i:=0; i<v_Len; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,*))))

           {

             if (i == v_Len - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: None of the LogMeasurementInfo matched the template")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.2.10 Step 15"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,*), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_Len - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: None of the LogMeasurementInfo matched the template")}

           }

         else
After change

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message with LogMeasInfoList on Cell 12?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *)))) -> value v_ReceivedAsp;

    v_Len := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10);

    for (i:=0; i<v_Len; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,*))))

           {

             if (i == v_Len - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: None of the LogMeasurementInfo matched the template")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.2.10 Step 15"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,*), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_Len - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15: None of the LogMeasurementInfo matched the template")}

           }

         else
Change 3
	Function name
	  function f_TC_8_6_2_11_EUTRA()

	Reason for change
	When UE transmits  UEInformationResponse message with LogMeasInfoList , In Wk10 TTCN Implementation while checking the LogMeasInfoList in these test cases PLMN Identity and Cell Identity is missing in the expected template.



	Summary of change
	Respective parameters for PLMN Identity and Cell Identity must be passed in expected template while checking LogMeasInfoList reported by UE.

	TTCN module
	LTE_A_R10_R11_IWD_17wk10\LTE_A_R10_R11\8_6RRC_MDT_Logged.ttcn

	MCC160 Comment
	Accepted


Before change

    //@siclog "Step 19" siclog@

    //Check: Does the UE send a UEInformationReponse message with logMeasReport including logged measurements did on Cell 1 and Cell 12?

    //@sic R5-145549 sic@

    //@sic R5s141311 sic@

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell2,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell12,'0000EF'O, '001A'O, '05'O, *, *))))

      -> value v_ReceivedAsp; //@sic R5s141311 sic@

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10); //@sic R5s141311 sic@

    if (v_FieldCnt < 2) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: Not enough LogMeasurementInfo entries")} //@sic R5s141311 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band1<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 1")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 1"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 1")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 1"); break;

           }

         } //@sic R5-171443 sic@

    } //@sic R5s141311 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band2<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 12"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else
After change

    //@siclog "Step 19" siclog@

    //Check: Does the UE send a UEInformationReponse message with logMeasReport including logged measurements did on Cell 1 and Cell 12?

    //@sic R5-145549 sic@

    //@sic R5s141311 sic@

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell2,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell12,'0000EF'O, '001A'O, '05'O, *, *))))

      -> value v_ReceivedAsp; //@sic R5s141311 sic@

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10); //@sic R5s141311 sic@

    if (v_FieldCnt < 2) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: Not enough LogMeasurementInfo entries")} //@sic R5s141311 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band1<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 1")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 1"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell12,v_CellIdentity_Cell12), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell1,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 1")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 1"); break;

           }

         } //@sic R5-171443 sic@

    } //@sic R5s141311 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band2<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step19 Log meas info matched for cell 12"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else
Change 4
	Function name
	    function f_TC_8_6_2_12_EUTRA()

	Reason for change
	When UE transmits  UEInformationResponse message with LogMeasInfoList , In Wk10 TTCN Implementation while checking the LogMeasInfoList in these test cases PLMN Identity and Cell Identity is missing in the expected template.



	Summary of change
	Respective parameters for PLMN Identity and Cell Identity must be passed in expected template while checking LogMeasInfoList reported by UE.

	TTCN module
	LTE_A_R10_R11_IWD_17wk10\LTE_A_R10_R11\8_6RRC_MDT_Logged.ttcn

	MCC160 Comment
	Accepted


Before change

    //@siclog "Step 20" siclog@

    //Check: Does the UE send a UEInformationResponse message including logMeasReport?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *, *))))

      -> value v_ReceivedAsp; //@sic R5s141292 sic@

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10); //@sic R5s141292 sic@

    if (v_FieldCnt < 2) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: Not enough LogMeasurementInfo entries")} //@sic R5s141292 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step20"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, omit, (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else
After change

                                 cs_508_UEInformationRequest(tsc_RRC_TI_Def)));

    //@siclog "Step 20" siclog@

    //Check: Does the UE send a UEInformationResponse message including logMeasReport?

    SRB.receive(car_SRB2_RrcPdu_IND(eutra_Cell12,

                                    cr_508_UEInformationResponse(tsc_RRC_TI_Def, omit, omit, cr_LogMeasReport_r10(v_AbsoluteTimeInfo, v_PLMN_Identity_Cell1,'0000EF'O, '001A'O, '05'O, *, *))))

      -> value v_ReceivedAsp; //@sic R5s141292 sic@

    v_FieldCnt := lengthof(v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10); //@sic R5s141292 sic@

    if (v_FieldCnt < 2) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: Not enough LogMeasurementInfo entries")} //@sic R5s141292 sic@

    for (i:=0; i<v_FieldCnt; i:=i+1) {

      v_LogMeasInfo_r10 := v_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension.nonCriticalExtension.logMeasReport_r10.logMeasInfoList_r10[i];

      if (v_Band<=64) {  //@sic R5-171443 sic@

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: None of the LogMeasurementInfo matched the template for cell 12")}

           }

         else

           {

             f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "step20"); break;

           }

         }

      else {// Band>64

         if (not match(v_LogMeasInfo_r10, cr_LogMeasInfo_r10(*, ?, cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1), (0..97), (0..34), cr_MeasResultNeighCells_r10_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,v_PhysCellId_Cell12,omit), cr_MeasResultList2EUTRA_v9e0_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0))))

           {

             if (i == v_FieldCnt - 1) {f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: None of the LogMeasurementInfo matched the template for cell 12")}

